JTJ

JIG B01—2003

Technical Standard of Highway Engineering

2004—01—29 2004—03—01




€ )

(J TG B01—2003)
1

( ) (JTG BOL—2003), 2004 3 1 .
y (JTJ 001—97)
( ) (JTG BO1—2003)

b b

1, : 100736; : 010-65292718),



(

11

b

»

(

: 100736,

b

Y(JTJ 001—97) .
: C N )
1997 .12
o ( )
1 .2 .3 .4
.9 .
’ (

[2002] 36

: 010-65292718, E-mail: shc@rioh.ac.cn),

1998

113

1



( »



1.0.1 ) ) o
1.0.2 o
1.0.3
1 N o
25000~-55000
45000~80000
60000~100000
2 N ) o
15000~30000
25000~55000
3 o
5000~15000 -
4 .
2000~6000
5 o
2000 o
400 o
1.0.4
1 20 ;



1.0.5

1.0.6

1.0.7

1.0.8

3m.

2m

Im

»»”



1.0.9

1.0.10



2.0.1 2.0.1,
2.0.1
m m) (m) m) m) (m)
6 1.8 2 0.8 3.8 1.4
12 2.5 4 1.5 6.5 4
16 2.5 4 1.2 4+8.8 2
2.0.2 o
2.0.2.
2.0.2
1.0 <19 <2t
>19 >2t~<T7t
1.5
2.0 >T7t~<14t
3.0 >14t
1 N N
2 N [=]
N 4 o
3 N b
2.0.3 30 ,
40 o
2.0.4 2.0.4.



2.0.4

1 o
2 N s o
2.0.5 2.0.5,
2.0.5
12 | 10 10
80 80 | 60 80 60 40 30 20
(km/h) | 0 0 0
1 b b
60km/h, 15km,
80km/h.
2 , 100km/h  80km/h.
N , 60km/h
80km/h.
3 , 80km/h.
60km/h.
N , 40km/h.
2.0.6 15km; N 10km.,
2.0.7 2.0.7 0



0w

D

a0

—.—E—-—

2)

H

3



4.0

W --
Ll_
L2_
Sl_
82_

i

r

L<1Im
L>1m

4)
2.0.7 ( im)
(L1 Lz) ;
0.25m;
(L L ) 7.0.3
100km/h 0.5m, 100km/h 0.25m.
, E=L;
, E=1m,

( ), ) 2.0.7

2)



4.50m.

0.05

0.10. 0.15. 0.20. 0.30

0.40

2.50m.

5.00m;



3.01
1 b b
2 b N
3 b N
4 ~ b N
5 b b
3.0.2 3.0.2 o
3.0.2
120 100 80 60 40 30 20
(km/h)
3.00
3.75 3.75 3.75 3.50 3.50 3.25
(m) 3.50)
, , 3.50m,
3.0.3 ;
3.04

3.04



3.0.4

Ckm/h) 120 100 80 60
3.00 2.00 2.00 2.00
(m 2.00 2.00 1.00 1.00
0.75 0.75 0.50 0.50
(m 0.75 0.50 0.50 0.50
4.50 3.50 3.00 3.00
(m 3.50 3.00 2.00 2.00
3.05 3.05—1 \
3.0.5—1
(kn/h)
120 | 100 | 80 | 60 80 60 40 30 20
3.00
3.00 | 2.50 | 2.50 | 1.50 | 0.75
3.50 Sl Bt Bttt
(m 3.00 | 2.50 | 1.50 | 1.50 | 0.75 | 0.25
0.75]0.75|0.75 | 0.50 | 0.75 | 0.75 0.25
0.75 | 0.50 | ¢ )
m 0.75 | 0.75 | 0.75 | 0.50 | 0.5 | 0.5 0.50
( )
@ ‘“ 2 ‘“ 2
@ 120km/h s 3.50m s
1 . , 0.50m.
2 . : : 3.0.5-2
3.0.5—2 .
(km/h) 120 100 80 60
(m 1.25 1.00 0.75 0.75
(m 0.75 0.75 0.75 0.50

3.00m

°



3 , 2.50m.
3.0.6 . 250m .
3.50m, 30m, 500m.
3.0.7 . . . . .
, ¢ )
3.0.8 . , . ,
3.50m.
3.0.9 , .
3.0.10 4.50m , . 6.50m.
3.0.11 3.0.11 .
3.0.11
(km/h) 120 100 80 60
8 6 4 8 6 4 6 4 4
45.00 | 34.50 | 28.00 | 44.00 | 33.50 | 26.00 | 32.00 | 24.50 | 23.00
(m) 42.00 | ---- | 26.00 | 41.00 | ---- | 24.50 | ---- | 21.50 | 20.00
(kn/h) 80 60 40 30 20
2 2 2 2 2 1
6.50
4.50
12.00 10.00 8.50 7.50 ( O
(m) )
10.00 8.50 |  ———m= | e | mmmme-
:® ‘“ 2”
@ “ »” 3_50m
“ 7 3.75m



80km/h

2 N
15.0m; 60km/h 12.0m.
3 ; 4.50m o
4 ; N N
3.0.12
1 . 3.0.12-1 .
3.0.12-1 N
(km/h) 120 100 80 60
(m) 210 160 110 75
2 NN 3.0.12-2 .
3.0.12-2 s s
(kmv/h) 80 60 40 30 20
(m) 110 75 40 30 20
(m) 220 150 80 60 40
(m) 550 350 200 150 100
3 .
4 N N )
5
3.0.13 . .

3.0.14

3.0.14



3.0.14
(km/h) 120 100 80 60 40 30 20
(m 1000 700 400 200 100 65 30
(m) 650 400 250 125 60 30 15
5500 4000 2500 1500 600 350 150
<2.0%
(m 7500 | 5250 3350 1900 800 450 200
>2.0%
3.0.15 3.0.14 )
3.0.16 3.0.16 o
3.0.16
(km/h) 120 100 80 60 40 30 20
(%) 3 4 5 6 7 8 9
1 120km/h. 100km/h. 80km/h )
2 ) 40km/h, 30km/h. 20km/h
) 1%.
500m 5%. 3km
5.5%.
3.0.17

3.017-1

3.0.17-2

°



3.0.17-1
(kmh) | 120 | 100 | 80 | 60 | 40 | 30 20
(m | 300 | 250 | 200 | 150 | 120 | 100 | 60
3.0.17-2
(kv
" m) 120 | 100 | 80 60 40 30 20
(%
3 900 | 1000 | 1100 | 1200
4 700 | 800 | 900 | 1000 | 1100 | 1100 | 1200
5 — | 600 | 700 | 800 | 900 | 900 | 1000
6 — | 500 | 600 | 700 | 700 | 800
7 500 | 500 | 600
8 300 | 300 | 400
9 200 | 300
10 200
3 ( )y 3.0.17-2 .
3%, .
3.0.18 . 3018 .
3.0.18
120 | 100 | 80 | 60 | 40 | 30 | 20
(knvh)
17000 | 10000 | 4500 | 2000 | 700 | 400 | 200
11000 | 6500 | 3000 | 1400 | 450 | 250 | 100
(m)
6000 | 4500 | 3000 | 1500 | 700 | 400 | 200
4000 | 3000 | 2000 | 1000 | 450 | 250 | 100
(m)
(| 100 | 85 | 70 | 50 | 35 | 25 | 20




4.0.1

l N N b N

2 b N

3

4 )

5 N
4.0.2 4.0.2 o

4.0.2
1/100 1/100 1/50 1/25
4.0.3 )
) 4.0.2
0.5m 0

4.04

l [=] N b b

2 404 o




4.0.4

(%)
(m)
0 ~ 0.30 — — =94
0 ~ 0.80 =96 =95 —
0 ~ 0.80 =96 =95 =94
0.80 ~ 1.50 =94 =94 =93
>1.50 =93 =92 =90
: @
@ ’
®
4,05
1 .
2 N b
3 .
4.0.6 100kN.
4.0.7 4.0.7



4.0.7

4.0.8 N

4.09



5.0.1

5.0.2

5.0.3

5.0.2.
5.0.2
L (m) L« (m)
L>1000 L«>150

100=<L=:1000 40<1«<<150

30<<L<<100 20=<<1«<<40

8<<L=<30 5<<1«<<20

— L«<<5

: @
@
®
@



50m , o

0.75m. 1.0m. 1.25m+ 1.5m+ 2.0m. 2.5m. 3.0m. 4.0m. 5.0m. 6.0m.
8.0m- 10m. 13m. 16m~ 20m~ 25m+ 30m. 35m. 40m. 45m. 50m.

5.0.4 5.0.4 o
5.0.4
17300 1/100 17100 1/100 17100
17300 1/100 17100 1/100 17100
1/100 17100 1/100 1/50 1/50
17100 1/50 1/50 1/25 1/25
17100 1/50 1/50 1/25
1 N b Al b
2 4.0.2
5.0.5 2.0.7 )
1 N b
) 3.0.4 3.0.5-1 “ 7
2 o
5.0.6
1 ) o



5.0.7

5.0.8

4%, 5%,

9%~ 10%;

8.5m;

3%,

4%~6%.

7.0m,



6.0.1

6.0.2

6.0.3

—1 —I1I .
6.0.2 o
6.0.2
—1 —I1I —II —II —II
’ _I
’ _II 08 ’
0.7
6.0.3.
I.'l
i,
SEFI{4S k)T I"'I IEERENEERERE
6.0.3

g =10.5kN/m:;

5m , P, =180kN;

50m ., P, =360kN;



v P

50m

sm .

P

6.0.4.

12
O«

I
0.75
6.0.4,

6.0.4

II

‘140 ‘140
] |
1.4

4@
3.0 11.4\

7.0

30 ‘120 ‘120
.

@

1.4]

7.0

3.0 _1.4]

< T T T T

S o=

15.0

Q:I

(0)

: kN

6.0.4



6.0.4

kN 550
kN 30
kN 2X120
kN 2X140
m 3+1.4+7+1.4
m 1.8
m 0.3X0.2
N m 0.6X0.2
C X ) m 15X 2.5
6.0.5 ) 6.0.5
25 P 25 _
£Rl i1l {1} 1] ] —
[ 1& |13 ]| 18 || 0.5
6.0.5 ( : m)

6.0.6 6.0.6-1 o
2 6.0.6-2



6.0.6-1

W (m)
(
W<7.0 1
7.0<W<10.5 6.0=W<<14.0 2
10.5<W<<14.0 3
14.0<W<17.5 14.0=W<21.0 4
17.5<W<21.0 5
21.0ssW<<245 21.0ssW<<28.0 6
245<W<<28.0 7
28.0ssW<315 28.0<<W<<35.0 8
6.0.6-2
¢ ) 2 3 4 5 6 7 8
1.00 0.78 0.67 0.60 0.55 0.52 0.50
6.0.7 o
150m , 6.0.7 o
6.0.7
L, (m)

150< L, <400 0.97

400< L, <600 0.96

600=: L, <800 0.95

800=< L, <<1000 0.94

L, =1000 0.93




6.0.8

50m

150m

50m .

b

b

150m ,

3.5kN/m?.

3.0 KN/m?;

2.5 KN/m?;

115

°



7.01

1 ’ Al Al

2 N N N Al

3 Al b

4 )
7.0.2 7.0.2 o

7.0.2
L>3000 3000=L>1000 | 1000=L>>500 L <500
(m)

7.0.3 2.0.7 )

1 7.0.3 o

7.0.3

(km/h)

120 | 100 | 80 60 80 60 40 30 20

(m)

075|050 | 050 | 050 | 0.75 | 050 | 0.25 | 0.25 | 0.50

(m)

125|100 | 075|075 | 075 | 050 | 025 | 0.25 | 0.50




7.04

7.05

7.0.6

7.0.7

3.50m,

0.3%.

(
) 025m C .
2.50m ,
30m, 750m.
3
3
3%, 100m
4%,

0.75m.

0.75m,

50m



5 N ) 100m

7.0.8



8.1
811
8.1.2
1 ¢ )
2 N N
3
8.1.3
1 ¢ )
2 N N
3 ,
4 N
8.1.4
1 4km.

1000m, N N



8.1.5

8.1.6

8.1.7

8.2

821

8.2.2

8.2.3

1000m

b

30km. )
“U 2
8.1.6 o
8.1.6
80. 60. 50 | 80. 60. 50. 40 40
Ckm/h) 60. 50. 40 60. 50. 40 40. 35. 30




8.24

8.3

831

832

8.3.3

70%.

20km/h.

8.34

834

8.3.4

40km/h;

2.0.7

(m)

2000

1000

500

500

300




8.35

8.4

84.1

843

8.4.4

845

8.5

851

8.5.2

3.0.12

120km/h

5m.

2.0.7



8.5.3

854

8.5.5

8.5.6

8.6

8.6.1

8.6.2

8.6.3

8.6.4

8.6.5

6.0.2

2.20m;

3.00m;

2.70m;

4.00m;

4.00m.

4.50m

7.00m;

45°

6.0.8

3.20m.



9.01

9.0.2

9.0.3

9.04

O|lO0|w|>




9.0.5

1)

2)

3)

4)

15~25km.

50km.



9.0.6

Al A2 . Al : N

Al N N N N N

A2 N N N N

( ) ) 50km.



1)

2)

3)

4)

5)

6)

10



JTJ

JTG B01—2003

Technical Standard of Highway Engineering

2004—01—29 2004—03—01




(/N MW tiw/ N
% I iR



101

1.0.2

1.0.3

bl
) (JTI001-97)

b

113

113

¢

{ » (97

°

¢ Vi

»”

1-1.

1-2

1-3.

¢

(



Ckmh >

120 100 80
V/IC V/IC V/IC
(pauken)| ey (ki) (ki)
(pouhn) (pouhin) (pouhin)
7 =109 034 ™0 =02 031 650 =74 025 500
<18 =90 074 1600 =79 067 1400 =66 060 1200
=25 =78 088 1950 =71 086 1800 =260 075 1500
<45 =48 10| <2200 =47 10| <2100 =45 10| <2000
=45 <48 >10 02200 <47 >10 02100 <45 >10 0~2000
. V/IC ,
1-2
( kmh )
100 80 60
V/C V/C V/IC
(poukenn) | (v (kmh) (kmh)
(pouhin) (pauhin) (pouhin)

7 =06 035 700 =78 030 550 =60 025 400
<15 =87 065 1300 =70 058 1080 =57 053 80
=20 =80 080 1600 =65 072 1300 =52 066 1050
<40 =50 10 [ <2000 =46 10| <1800 = 10 | <1600
=40 <50 >10 0~2000 <46 >10 0~1800 <40 >10 0~1600




Ckmh)
80 60 <20
(%) (%) (%)
<30 [30-70| >70 <30 [30-70| >70 <3037 | =70
o) |kmi) (knvh) (kvh) 0
VIC VIC VIC

<30 | =76|015| 013|012 | =65 | 015|013 | 011 | =54 | 0.14| 0.13 | 0.10

<60 | =67 040| 034|031 | =56 |038|032(028| =48 | 037 |025|0.20

=80 | =58 | 064 | 060 | 0.57 | =48 | 0.58 | 0.48 | 043 | =42 | 054 | 0.42 | 0.35

=48 =40 >37
100 Z 0| L0 |20 | 10| Z 0| 10| 10 |10 | 20| 10| 10 | 10
&)
1-4
1-4
(km/h) 120 100 80
(peu/h/in) 2200 2100 2000

Cpeu/h/in) 1600 1400 1200

(2)



(1-1:
C = C XRl XR2><ZKi
= (0.6~0.76) C X2K; (1-L
c - 60km/h. 80km/h  100km/h
850~1300 (pcu/h/In);
c - (peu/h /In);
R, — , 0.90~0.95;
Rz i ’ 08N09,
Ki —
1.0;
0.9;
0.8~0.9;
0.7~0.8.
(1'1) ’ 1'50
1-5
¢ km/h) 100 80 60
(pcu/h
1400 1200 900
/In)
(pcu/h
1 850~1000 700~900 550~700
3 .

8 ( . D139 NN )

b b

30%. 30% ~ 70% 70% ) V/C 0.64 ~ 0.35
) 1-6.



1.0.3_6 > >

(kmh) (pouh) %) vic
0
(fpouh)
80 9.0m 2500 <30% 0.64
60 70 1400 30%~70% 0.48 550~1600
.um
40 1300 > 70% 0.42
40 7.0m 1300 < 30% 0.54
400~700
30 6.5m 1200 > 70% 0.35
20 <6.0m <1200 > 70% <0.35 400
( 1) N
’ ’ ( 1'2)
AADT=Cp XN/ (KXD) (1-2)
AADT—
CD - y
N - H
D — ) , D 50/50~40/60;
K - ’ ~ ~
, K : 0.085~0.11; 0.12~0.15;

(1-2) ) 1-7.



1-7

(km/h> (pcu/ d) (pcu/ d) (pcu/ d)
120 40000~55000 55000~80000 80000~ 100000
100 35000~50000 50000~70000 70000~90000
80 25000~45000 45000~60000 60000~80000

) (1-3)
AADT = ((0.6~076) C XJK;) / (KXD) (1-3)
( 1‘3) ’ N 1'80
1-8
/d /d
Ckmvh) (peu/d) (peu/d)
ZKi =19 ZKi =2.65
100 27000~30000 30000~-55000
80 20000~27000 27000~45000
60 15000~25000 2500035000
( 2) N N
N 0.09-0.18 06
094. . N 1-9.
1_9 ~ ~
(km/h) (pew/h) (peu/d)
40~80 550~1600 0.94 0.09~0.18 5000~15000
30~40 400~700 0.94 0.10~0.13 2000~6000
20 <400 0.94 0.13~0.18 < 2000

40km/h

H



) 8.50m  12.00m,

40km/h, SN )
8.50m, N 40km/h
o 2000~6000 (pcu/d).

~ ’

) 2000 (pcu/d) ; 400 C(pcu/d) .

1.04 « » (97) “ 7 ) “
XX 7o , )

1.0.5 b b b b

’ ’ H
N b N L=]
°
b b b
A 5 ’
b b o
b o
b b
°
~N b b

»»”



106 ( s

( »
1.0.7
108
1.0.9 114
¢

1.0.10 “



201

202

(

(

2001
36.3%,

(

» 9D

»

» (GB 1589-89)

b

°

b

7.6%. 2.2%

113

WTO

b

2.5%,

85%

(

» (97

5% N

»



» .

203 N
20~40
204 )
80%,
30

30

30

(



2.05

“ »»”

”’ H << >> (97) N N
( 40km/h 60km/h), )

b b
) 20 50
b b b
) ) 20km/h  120km/h.
’ N N ~
o ’ o
b b b
b b
b b
b o
~ °
o b
b b b
b
°
’ N ~
°
b b
~ N N ’
~ °
b
o b
b o

( » (97 ) 2000 “

»”



»»”

(

(

2 120 km/h, 100 km/h 80 km/h,
o 80 kmv/h ¢ N
60 km/h ) )
, , 60 km/h
60 km/h , 15km;
, 15km, )
3 “ ” b N N N
4 , )
2.0.7 4 Y 97) ;
2.0.8 { » (GB 18306--2001), ,
R 2-1
2-1
(@ <0.05 | 005 | 010 | 015 | 0.20 | 0.30 =20.40
<VI VI VI VI VIl VIl =X
0.10. 0.15. 0.20 0.30 ,
; 0.40 ,
, ) { y 9D o
, , 0.05
( )

0.05 )

bz
Do



301

( ) (

( V2
~ 20~50

( V2

»”

113

113

»” 50



3.0.2

1 N
2
{ » (97) ) 0
3.03
b N (
3.04
1 ) )
2 o
3 o
o 1.00m,
3.05
2.50m.

3.06



3.07

3.0.8

3.09

3.0.10

3011

10m
30m.
3.50m.
4% )
5% ) o
) 30s
)~ (

b

60km / h

20m

300m.



b N N N N ( )
N N ) 302 . 303 .304 .
305 .306 .307 308 .3010 o

b o



0 80km/h 15.0m; 60km/h
12.0m. ) 15.0m
) 20.0m, “ 7,
2 b N N N “
3.0.12
) N ) 0 1.20m,
45ft=1.37m, 1.05m. N )
1.2m. , 0.10m.
1.2m, 0.lm ,
’ ’ ( ) °
) 2.0m, 0.lm , ,
) 3—1 3—2 0
3_ 1 ~
(km/h> 120 100 80 60
(m) 210 160 110 75
(m) 245 180 125 85
3_ 2 ~

(km/h) 80 60 40 30 20

(m) 110 75 40 30 20

(m) 125 85 50 35 20




120 { 120 | 100 | 90 | 80 | 70 | 60 | 50 | 40 | 30 | 20
0 2451210 | 180 | 150 | 125 | 100 | 85 | 65 | 50 | 35 | 20
3 265 | 225|190 | 160 | 130 | 105 | 89 | 66 | 50 | 35 | 20
4 2731230 (195|161 | 132|106 | 91 | 67 | 50 | 35 | 20
5 - | 236|200 (165|136 | 108 | 93 | 68 | 50 | 35 | 20
6 - - - 169 (139 | 110 | 95 | 69 | S0 | 35 | 20
7 - - - - - - - 70 | 50 | 35 | 20
8 - - - - - - - - - 35| 20
9 - - - - - - - - - - 20
1.2m, 1.2m, )
3.0.13
o ) 60km/h

70s



( m) ( kmh ) 20 ; ,
( m ) ( km/h ) 6 ;
( m ) ( km/h ) 2 . 40km / h
20km/h. :
. 47.5km, 20~30km . :
: 20 ., 120km/h :
2400m; 100km / h : 2000m. :
3.0.14
1
(3-1):
—_V?
R= 127 (u+) (3-D



R— (m);
V— (km / h);
p— , H
i— 0
( 3'1) b V ’
( 3-3).
0.2
LA ~\\\\\\\\-
0.1 ~—
0.08
20 40 60 80 100 120
v(km/h)
3-3
43 ; 0.3

0.10~0.17 , )



3-4

6%-. 8%

»”

3-4
(km/h> | 120 100 80 60 40 30 20
0.10 | 0.12 0.13 0.15 0.15 0.16 0.17
6 6 6 6 6 6 6
%) 8 8 8 8 8 8 8
10 10 10 10 10 10 10
10%~6% ) ,
10% o ) “
3-5, 8%
3-5
120 100 80 60 40 30 20
Ckm/h)
i=10% 570 360 220 115 50 30 15
i=8% 650 400 250 125 55 30 15
i=6% 710 440 270 135 60 35 15
0.05~0.06. )
) ) 3-6
3_6 @ »
Ckm/h) 120 100 80 60 40 30 20
0.05| 0.05 0.06 0.06 0.06 0.05 0.05
%) 0.06 | 0.06 0.07 0.08 0.07 0.06 0.06
. » () 1000 | 700 | 400 | 200 | 100 65 30




n=0.035,i=-0.015,

-

» (97

o , 0.035,
2% , o
0.035~0.040 , 1.5% 0.035;

2.0% 0.040, ) {
97) o N
N 2.0% , )

o u=0.035, i=-0.020
2.0% o s
2.5% 0.040; 3.0% , 0.045;
3.5% 0.050; 2.0%
0.040~0.050 3-7.
3-7 (m
(km/h) 120 100 80 60 40 30 20
i <2.0%
5500 4000 | 2500 1500 600 350 150
1=0.035~0.040
i >2.0%
7550 5250 3350 1900 850 450 200
4 =0.040~0.050
3.0.15
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: @ (
) @ (

) @ (



3.0.16

(

3%-. 4%

6%-. 7%

3.0.17

) (97) «

120km / h

b

30km/h
80km/h. 60km/h.

»”

8t “

3%,

20km/h
40km/h

3.0.14

»»”

3% )

1%; 8%. 9%
; 5%,

( » (97

” 9.3W/kg) ,



3-8
i
0,
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10 900 700 450 - - - - -
3018 15 1200 | 900 | 600 | 500 | 400 | 300 | - -
20 - 1200 | 900 700 500 400 300 200
25 - - 1150 850 650 550 400 300
R (14 2 (14 2 1.5/\42.0 R
«“ ” 39 3-10.
3_9 ({3 »
(m)
(m) (m) Lt
(km/h) VA D2A R— 1%kt
Ln=— Lp=—— m A
360 360
120 40.0A 111.0A 110 A 11 000
100 27.8 A 64.5A 65 A 6 500
80 17.8A 30.2A 30A 3 000
60 10.0A 14.1A 14 A 1 400
40 4.4 A 4_.1A 4.5A 450
30 2.5A 2.3A 2.5A 250
20 1.1A 1.0A 1.0A 100
[ ( )(km / h);
b— NWE
Lti (m);
A— 0);
R— m.
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»

™ (m
Ckm/h) (m?’ZA - - (m)z Lt R— 1000L;
Ln="— T orasen | =D (m) A
1927
120 40.0 A 50.0A 22.9A 40 A 4 000
100 27.8A 36.2A 13.34A 304 3 000
80 17.8A 22.1A 6.3A 20 A 2 000
60 10.0A 13.7A 2.9A 10A 1 000
30 2.5A 3.5A 0.5A 2.5A 250
20 1.1A 1.8A 0.2A 1.0a 100

3s
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6.0.3

—20

—80 —10 .
) 20
—I1I ;
’ - I
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, : So ¢ ) D
So : —20
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100 I o
, Sk 95% .
( » (97D : 11%;
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— 20 —20
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{ » (97 — 20
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o : 9.75m ) { y 97 )
10.5m 0 ) 3.10m
( 2.50m 0.6m> 9.75m )
N , 3.5m o )
3.5N , 3.5 (N+D) ) )
3.5X3=10.5m 3.5X4=14.0m; )
) 3.5N, 3.5 (N+2), )
3.5X2=7.0m, 3.5X4=14.0m. , m
) 6m.
o { Y 97 ) BS5400.
OHBDC (ASCE) 4 i
) 6-1.
6-1
C 1 2 3 4 5 6 7 8
BS5400 1.0 2.0 233 | 2.67 3.0 3.33 3.67 4.0
OHBDC 1.0 1.8 24 2.8 3.0 33 3.85 4.3
ASCE 1.0 1.7 2.1 25 2.9 33 3.7 41
{ ) (88) 1.0 2.0 2.4 2.8 35 4.2 49 5.6
{ » (97) 1.0 2.0 234 | 2.68 3.0 33 3.64 4.0
6.0.7
( ) ) 0
b b 100 b
) 0 95%
(6--1):

a =0.97913 -4.7185 X 10° L,

(6--1
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